Efficiency vs P,

~ 0.1
o

L S S AR

> E : : :

Y S SR -

o E : : :

8] - . . .

2 0.07f+weseeerierneeees e e

o E : : :
0.0BF--++ereerieeseeenees SRR AN
0.0BF -+ phrisereenrenes S N

0.04F -+ Ji ------------ barneanannas SR

O S I S S

0.02F+++rerresineeneeenees hecnasnanesd .

L7 SR N - S—

e

Ratio
hd

D000
e

j21=i=4=4

cooo
SSS2

= 0.1 . :
24 noF . 5 : : :
2 0.09F -+ Breceesedeneens SR SRR e
e F : : : : :
§0.08F - S R oo e
o o : : : . :
£0.07F - Feeeeeedeenas U b
(] o . . . . .

006—+ -------- ........ # .....

0.052—---+ :

P e
*¢++M ------ W
O02F----+; RTLERE TERLRE 17! B LN 11 S EEEE R AR e
0.0 E +?r+++ uﬂl t: *##g bld

0,01+~ byl b Ml S

055—- ,H.

Ratio
O

T

==
-
T S
el :
. .
=
e
— o
—t— 1
—_—— |
-y

H

S §
FAHL [
o
e !
—— .
e :
- -
——P—
——

Efficiency vs ¢

0.05
%) F:
2.045F
P
$0.04F
[ E:
.035E:
(9] F:
0.03F
0.025E1- b .
0.028 # pl L L TE T + 41
0.015FF--- 4 TrLL 4 TH - B (E
0.01E
0.005:




	Contents
	Page 1


